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i H FERES B AL | & & % B T E FEEM | B v | B H Z fH
T rp 4 v 200 g 102 97 | A A FORR L 10 ke 4, 320 2,160
LA = B 250 g 129 — | =A% — — — —
ZE0k 2 W 200 g 108 86 | & — — — —
IF5NAED = B 200 g 140 86 | BF (MARAER) = B 10 ke 5, 400 3, 240
FAE = B 8 kg 5, 400 2,592 | JIRREA FOaER L 7.5 ke 3, 240 1, 080
L AEL = R 150 g 129 86 | ELI& — — — —

- _ _ _ . < D . _ — —_
VA ANY Y AbiEE 10 ke 1, 620 1,404 | 77— A Ay 2 9 ke 8, 424 6, 480
FEEEICA U A JbiEiE 10 ke 1,728 864
< & E B 15 ke 2, 700 1,944
X p XYY OB 10 ke 1,944 1, 404
L H A * O 10 ke 3, 780 2, 160
TwIob TR 5 ke 3, 456 —
729 = B 5 ke 1,728 —
F= B2 K 4 ke 2, 700 —
E— B IG 130 g 129 86
Lok JbEIE 10 ke 1,728 1, 296
mERE JbEIE 20 ke 2,376 2, 160
LW ™ B 100 g 172 118
F o1t as 1 ke| 24, 840 8, 640
LU & B 100 g 64 47
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o E FEEMH | B | & E =z 1B &R B FEEM | B L | & E =z fE
A A KILE 1 ke 1, 944 1,512 | |y F Y 1 kg 2, 592 1, 080
HESAEE PNAES 1 ke 810 — | YN J IV 1 kg 1, 080 702
7Y & IR 1 ke 1, 080 270 | # 7 = TAUH 1 ke 2, 160 1, 080
PN B 1 ke 3, 240 216 | A AR L 1 ke 1, 404 —
AT £ 1% 1 ke 388 259 | FU A & 1 ke 4, 320 1,728
AR AT — —- — — | AT b¥EE 1 %% 248 162
{EANYF w5 1 ke 1,728 237
EE A = OBE 1 ke 1, 458 216
&4 =2 B B 1 ke 2, 376 1,512
INE & 1 ke 2,376 324
7Y = = 1 ke 1, 620 594
77 % T 1 ke 6, 480 604
y B O 1 ke 1,674 540
=l X & 1 ke 2, 052 1,188




